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The weight of a coin is 9 g. How many coins are there in a sack if it weighs 2 kg

e (et s sl

(@) 100 coins (b) 200 coins

(c) 250 coins (d) 500 coins
T R & aqT 9w B2 R o 950 W g A G e B
(@) 100 (b) 200

(c) 250 (d) 500

?Zu;'zéi"fuﬁd{iu’l?q_ o1/ 250 Bk Sg o1/ 9k

X200 (b) L100 ()
L500 (d) | La50 (0

2. The volume of boxWwith length 10 cm, breadth 5 cm and height 6 en is:
(a) 21 cubiccm (b) 300 cubic cm
(c) 40 cubic cm (d) 600 cubic cm
e e e @ 10 o, et 5 A ok e 6 AW ¥, @ o gww
(a) 21 & @4 (b) 300 &= ¥+fr
(c) 40 = &t (d) 600 &= ¥+ft

P.T.O.
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ot o 2 S (i e 55 5185 e 108U

FELL 300 (b) RELLL ()

HE L 600 (a) KELL a0 ()

3. Which of the following is correct? W
(@ Dividend = Remainder x Quotient +Divisor
‘(b) Dividend = Quotient x Divisor +Remaindes
(c)  Divisor = Dividend x Remainder +Quotient
(9) Quotient = Remaihder x Divisor +Dividend
ﬁqﬁrﬁga_ q H el o2 |
(a) s« = SﬂW X HrThe + foerren
(b) ¥ = s X P + e
(¢)  Fawors = Wt X 4T + W
(d) wrTEw = AuET X e +
S-06 (SET-B) @
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Dividend = Remainder x Quotient +Divisor  (a)
Dividend = Quotient x Divisor +Remainder (b)

Divisor = Dividend x Remainder +Quotient  (c)

Quotient = Remainder x Divisor +Dividend  (d)

4.  If Soha's heart beats 72 times in one minute, how many times does it beat in one
(a) , 18640 times (b) 130608 times
(c) 103680 times (d) 168400 times
SR drer & e 1 e § 72 IR gswar & @ BT A fhaet R agae
(a) 18640 91 | (b) 130608 AR
(c) 103680 ¥R (d) 168400 I}
{7 7»&%:%@»9?4‘_0(‘/’:;/70&w..{ld:ﬂrfl
~2,130608 (b) 218640 ()
',.;:/168400 (d) 2,103080 (c)pT.O.
s-b6 (SET-B)
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5.  Thetable shows how rabbits grew every year:

Time Eiﬂit*% 1 year 2 year 3 year 4yeq
No. of rabbits 10 18 32 58 108
After which year will the number of rabbits cross 10007
(@) Sgears (b) 6years
() 7years (d) 8years
MW & @ois  dew § gy w5 eyt i
ko) R gee o fEdad | de o |
TN & FEAr 10 18 32 58 108
fope et & a1e @l @ e 1000 % IR 9 A
(@) 5 (b) 6 @r
(¢ 7w (d) 8am
‘ NP Py 1A N D
Time Start 1 year 2 year 3 year 4 year
No. of rabbits 10 18 32 58 108
IV St e fuS e
Ju6 (b) Jus  (a
Jug (d) Ju7 ()
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6. The tally marks for 29 cars are:

(@) [ ]

(b)

(©)

@

29 HRI @ Rl & forg el Awer-

@ |

(b)

©

C)

P.T.O.
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(b)
(©)
(d)
g & A square éarrom board hasa perimeter of 280 cm. How much is its area?
(@ 70 square cm | (b) 4900 square cm
(c) 490 square cm - (d) 40 square cm

TF BN BT IS Y TRAT 280 Y B | TR &6t T BRM?
(a) 70 @ AT (b) 4900 =t Jf
(c) 490 = &I (d) 40 =uf &t

P e 1 280 et ]

S-06 (SET-B) ‘ ®)



4900 square cm  (b) 70 square cm  (a)

40 square cm  (d) 490 square cm  (c)

A thin wire 30 centimetres long is formed into a rectangle. If the width of this

rectangleis 5 centimetres what isits length?

(@ 9cm (b) Scm
(c) 6cm B (dy 10cm

TF 30 YA TS I Ao dR F T S a9l T4 | SR 39 T & S 5

AN & T AT BT TEE FAT B
(@) 9@ (b) 5 @
) 6 (d) 10 3

s B 255 58185 S U S b BSUT b (i 2630

S5cm (b) 9 cm~ (a)
10cm (d) 6cm  (c)
P.T.O.
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9.  Which of the following isthe greatest number : -

@  4.050

(©) 4.005 .

(b) 450

(d) 4.051

@  4.050

() 4.005

4.50

4.051

10. 1 metre and 5 centimetre is same as:

(@Y 150m

() 1.005m

1 Hiex AR 5 S Froswl =
(@) 1.5 o

(c) 1.005 Ho

(b) 4.50
) 4.051 . |
?‘L"/./T}Ljfcgﬂ(zigjﬂ
(b) : 4.050 (a)
(d) | 4.005 (c)
(b) 1.05m

(d) None of these

(b) 1.05 o
A) w3 B T
Seeg B LRE= sl

(b) » 1.50m (a)

1.05m
S sty (@) 1005m
(10)

'S-06 (SET-B)




1 ~ An egg costs two and a half rupees. How much will one and a half dozen cost?
(@ 12 (b) 24
¢ 30 (d) 45

oF I A 2%6@%1 1% T SrvEl &Y e T e

(@) 1230 (b) 24 T
¢ Fed S bl Posotliie idloso? St L
g A Ltgh
27T uw | 2 @
Yk %’ .
Yoo
3

@ (b)

W

(©) , ' (d)

pP.T.O.
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Forftiia & el el s W A A

@) (b)

N | s 1

(©) (d)

"d/xﬂ;’uf v-.«)..f ug(ﬁ% Ul L’JJ((J:: Lz By

(b) (a)
(d) (c)
13. If1cmon thg map shows 200 km on the ground , then 7 cm on the map will be
equal to km on the ground.
(@ 207Km (b) 600 Km
() 900Km (4,)7 1400 Km.

 8-06 (SET-B) (12)



ofr arfee W 200 fRHY o @ 1 A & ol ¥, qw Al w7 A SR B

@ 207 (b) 600 fah
(c) 900 feBHT ” @' 1400 foreft
_4}5!fé .................. km €227 cm {2.““'-@.)8‘46200 krn{utj om ..«942/7
600 Km  (b) 207Km  (a)
1400 Km. (d) o 900Km  (c)
14.  After changing 132 into a special number, we will get -
@ 231 ®) 312
He 132 F U P9 dem § uRakfd FY | T e .
B
© 363 22 0 636
o L\'(’ (@)
A P.T.O.
9/'5/ 26
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-m’wméi—/dmfﬁu%g;m

312 (b) ' ‘ 231 @
636 (d) ’ . | 363 (©)
15. The common factor of 35 and 45 is: [T 21T M'l ISLAMIA
) 5 | 2 ' ' (b) 7
© 9 @ 3

35 3R 45 H WY ST

gy 8§ o . W 7
© 9 % @ 3

e MK 454135
L) , 5 ()
> 14 9 (©

16. The smallest common multiple of 4, 5 and 6is:
(a 20 (b) 30

© 60 @ 120

'S-06(SET-B) - (4




4, 5 3R 6 BT THH HHT 0T ?

@ 20 (b) 30

Ll wih

e oS P e K 6915, 4

(c)/ 60 (d) 120

30 (b) 20 (a)
120 (d) 60 (¢
- , -
17. : owing shapes would NOT look the same after half a turn?

(8) _-Square

(b) Rectangle

(0 Triangle
(@ Circle
mﬁ%mmﬁmﬁﬁﬂ%ﬁﬁmﬁm?
(@) @t (b) emEa

() Pr (d) I

?&)JUGMJK%{LJKL») Tﬁc‘_gpdv'/a_ufd_}gjﬂ

N 4 (a)
o (d) 2L (pTo0.

5-06 (SET-B) | (15)
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1 1 ; '|
18. Rehman has to travel ' 4 km to reach school. What distance does he trave] ¢, .

to

school amd come back home? ‘(ﬁ
1 | \
@ 2zkm ) 2gm %
1 1
@y S @ Lzkm
WA ® e UET | 1% fepell = wsaT ¥ 1 W 9 IR R W A o
S fohait gt 7 e B
@ 25 fh PRONCIN
© 25 Fe @) 1L e

Se b/l S L T s de /S 3¢ 1 k4 251z e

24km. (b) 27km (a)
Izkm (@ | C 2bm
19, One-thirdof 18 is equal to: [T il
@ o ' ®) 9

) 4 | d 5

S-06 (SE’TB) (16)
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(b) 9

(d) 5

il ih

20.
The area of the shaded figure is:
(@) 6 square units
(b) .3 square units
(c) 4 square units
(d) 2 squareunits
B AAHA o |
(@) 6 @ gH1E
(©) 4 wf whré
S-06 (SET-B)

S5 (D

(b) 8 =t 3erE
(d) 2 =f s
(17)

:‘4/,1/,&47..9%/&’
6 (a)
4 (o)

P.T.O.



& 36 (Shaded)3 2

2y 1513 (b) LHIFIE  (y)
| Ly 812 (d) AL ()

» 21. Length of the boundary of a figure is called :

(?) Perimeter
bl ' (b) Area
(¢) Volume

(d) None of these

o o A A g
() - (B) STt
(c) S (d) Wﬁaﬁ?ﬂﬁ
[l sornmmuinisina - EEEERVINTT:
gﬁ’é&-_gzut (@ f©

S-06 (SET-B) e (18)



22.

23,

Angleé are measured with the help of a

1 .
3 of a right angle is equal to

(a) 30°

(b) 60°
o 90° 3; }/7\(’/3 (d) 45°
FHHIOT BT T s - *

@ 30 .
(9 90° ) 45°

W

60° (b)

45° (d)

(a) Compass - (b) Divider
(c) Protractor (d) Ruler
Fror &y fpEE 7eg A A A 87

(2) w (b) fo
© e @) =

S-06 (SET-B) (19)
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30°

90°

()

(©)
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/“g/*u? (c)
24, Jhansi took 4 loan from bank to buy ‘log boat. She paid back a tota] of Rs.3 800;
) I
One year. How much did she pay back every month?
(@) 3250 (b) 3,150 4
(©) 3,780 (23,870
7
w#mmﬁa&m%ammummwﬁm 37,800 ¥% 7 iy
TN S Ry vy 7T Ty _
2 />’l (S e’Oo
Q QO ~ 9 o 3';"99‘
@ 3250 ~ K ®) 3,150 jﬁ}% @’f |
© 3,780 - (d) 3,870 ﬂ ‘%?‘, Soo (13
L U134/ R137.800 HAL Je s We gl o L7 0 Sa
"y A g F
3,150 (v) 3,250 (3
3.870 (g 3,780 (©

| S-O%SET—B)
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»5.  Which of the following represent 'one crore'?

(@) 1,00,000 (b) 10,00,000

(4 wih

(c) 1,00,00,000 (& 10,00,00,000

frfafad 5 ¥ 9 “wie” @ gufar &
(d 1,00,000

(b) 10,00,000

() 1,00,00,000 (d) 10,00,00,000

So.. I SO Lo Sioun

10,00,000 «(b) 1,00,000 (a)
10,00,00,000 (dj 1,00,00,000 (c)
26. Which communitiesin India.migrate for employment?
(a) Factory workers
by - Farm Labourers
(©)  None of these
(d) -Both (a) and (b)
PIT.O.

§-06 (SET-B) 21)



e

,m%mm%mm%mwwﬁmmwwﬁ?

(a) mﬁmmaﬁ

(b) et § ol aRy Ay

N s 1

©) 3w

d) (a) o (b) it

SIOSEAEL 30, 2l 5h s
mplbd KU (b) 88 ()

U250l (a) (q) e sty ©
27. Who is Mukadam?
(@ The agent for sugarcane factbries.

(};) The agent who earn profit.

(©) The agent who lends money to poor villagers,

(d). None of them.

S-06 (SET-B) 2)



qheEH I &7
) @ faad e

(b) HATH FHAM AT T

(c) Uoie S TS ArioraTRat @t Jar suw 3 2

@ wraag [ —

S by

SAKUMSE  (a)

etz st (b)

et FIH AT FL Ukt ()

ey (D

28.  Which part of our body is affected by polio?

(a) Kidney

(&) Lower limbs
(c) Heart (d) Head
e o i o et & o B
(@ waf (b) et s
© == (d) Rr

§-06 (SET-B) (23)
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E St 02Ul i >
i i:
| W’% (b) o) (a)
li NE) Js (c)
{; ' 29.  Traits that are passed on from parents to children throughgenes is known ag:
I8 |
b =
AR .
n (®  Acquired traits
|
| (b) ~ Non-aquired traits
i " '
| i (¢)  Non-inherited traits
ﬁ ~
) (d) - Inherited traits |
T S AR & e 3§ o @ mew & wRa A B wear &
J (a) ol T
Ef
(b) IR el @
() forererdit T
(d) IR Formereit @
| S.06(SET-B) = 24)
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W

30. Forests can be conserved by:
(a) Preventing forest fires
(b) Cutting them
(¢) Over grazing animals
(dy” Allof these
STl B R fear off WehaT &7
(8) it & @y ATl oM =
(b) <% I
(c) et @t SAfers TR

(d) S i

S-06(SET-B) @5)

L}?Jlﬂ(él:"(’ (a)
SedUE ()
JJVJH}”/;& (o)

J)bgu)" (d

P.T.O.
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J sS85

Sy (b)

LU;J}’@L’:L{#JL) ()
=rh (D

31. Whatis a natural resource?
(a) Resource we get from our housé
(b) Resource we get from people
© Resourcev we get from n;mre
(@ Resourceie get from neighbours
UTpicich wa? T &7
(a) darE S oA e ¥
(b) mmﬁaﬁvﬁam%l
(c) damee i 88 Y & fre &)
(d) e o &% TSRl § P ¥

S-06(SET-B) G6)



U J/V) 81,3

St o Je16.46

-ugz_/d’bﬁd”wz;uﬁ

<L) L/ Jl lp{.u}’ 31,3(‘}? J/l/)w

‘%L/JVLUK’ZZ;—'(Z}?JL}M

32. The unwanted plants which grows with the crops are called:

(@ Crop

$-06 (SET-B)

(b) Weeds

(@ @@
-‘4.t‘lgl,‘f. ......................
ME ®

ey (D

@7)

(a)

b -

(c)

(d)

St Z.T.ﬁ/_.:gc‘-lg;zj VU v

S @



33.

34.

£
o e

Which of the following is a seed?

(aa/ Bajra (b) Apple

(®)  Banana (d) Pear

BARRLALLCN 567 TAMIAMILUAISLAMIA

(@)  aww (b) &

© SR (d) =emeht

B S s

o D) 'zt ()
ERE) ¥ ©

People collected things from the forest for their use and some they would sell in the

town and with the monéy they bought:
(a) Salt

(b) Oil

(¢) Clothes

(;;) All the above

.06 (SET-B) (28)



A A T & I S § A s w41 owd 4 wp gw a6 TR

(a) T (b) ¥
c) == (d)- ST it

g es e fe Gnd nd £ o1 L S Gy g Sot)

oo R

S EON L @
e @ e ©

35. The occupation of Khedi village is:
(@) Fiéhing
(b) Pitcﬁing
~ (¢~ Farming
(d None of these
G v BT ZFEE -
@) ot (b) Pt a1 e

© &k e (d) A

P.1.O.

3-06 (SET-B) (29)



£z (b)

Lﬁ@fc—ufU' (d)

36. Which is our National Game?

(@  Cricket S

(b) Basketball
(c) Kabaddj

@ Hoc;é“y
@  fre (b) ez
©) g (d) ey

UNE
37. P.T Usha is a famoyg Player ip
(R) Badmingoy, (b)
| : Hockey
(©) Atheleﬁcs '
. @) Tay i
oo itk € tennis

G (c)

9‘4 gg}.{{f Ml
< ()
A0



do aﬁémﬁm@ﬁaﬁﬂﬁ@m@r%?

(@) wefres (b) ey
G () ¥ g
| SSFJAMIAMILUA ISLAMIA | T SR Fs38enda
YN0 k(@
VA (0 (o)

38. What was the name given to the person who were doing menial jobg?

(@) Barber (&)~ Actor

(©) Dancer (d) Warijans
#m%mmﬁmﬁaﬁaﬁwmﬁmwm?
@ w e () b
© w0 @
S e b WUe ek L0
i (o) de

g.’:/z (d)

et () ,
' P.T.O.
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39.  What is the naine of Gandhiji's Ashra

(b) Champaran
(a) Sharda -
(©). Sabarmati (¢y” Bardoli
RS & STaeT T A T &7 W
@ ww by TS
(©) (d) e |
' e WAL G
oz (R e ()
S (J) Sz (©
40, In winters wheﬁ we blow ‘out air it is ' - than the temperature of
air outside. |
(/y Warmer
(b) Cooler
© Normal

(d)  Allthe aboye

5-06 (SET-B) o



2 & b T T b @
O b
S % (d) v iy

e Bt

WU STt L Gine Sy fi s
Skl (b) ol ()

¢ (@ L™ (o)
41.  The story "Blow Hot Blow Cold"

was written by
(@ Zaklr Hussain

()} VA. P.J. Abdul Kalam

(©) Fakhruddin Ali Ahmad

(d M. Hidayatullah

“l Bfe =i Bies” FHEET fha Rt o

(@) =10 R g&= -

(b) o dto Fo srgw HAH
(©) waegdrT ol e
(d) o fRragee

P.T.O.
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?‘L- JL va‘)‘dt l'BlOW Hot, BlOW COldn

o= is i (a)

rzdei g

Bsscion b sl Adap

el (g

42. How many times does our heart beat in one minute?

(@ 100-120°

G 72-80

(©) 150-200

(d 160-170

mmwﬁwﬁﬁﬁ;&mw%y | %

@  100-120 ) -,-2._8(',.‘ ,
f (¢) 150-200 | (d) 160‘-176

ﬁ S-06(SET-B) 34)



S‘%.C(?ul,gffd;lmuﬁw..g
72-80 (b) 100-120  (a)
160-170 (d) 150200 (<)

43. Whatis the name of the top layer of the earth?

.(a) ! Mantle 4b) Crust
(c) Outer core (d) Innercore
et & qIY HIL FAE B AH-
(a) SrEReT (b) %
O Sk  (d) ereEt AR
. ‘-"a(tlfgi’d@'tfufi
-*-?/ ) J< @
ookt (d) 20z (O
44.  Earthquake intensity is measured by: W
4  Seismograph (b) Seism;gram"
©) Richtersale  (d) Magnitude
P.T.O.

$-06
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T B fear andr s &

(@) e (b) et
© R @ (d) R
| SSFIAMIAMILLIAISLAMIA [ TS )
ol S @
e (d) K (o

45.  Excessive rainfall can lead to:
(&)  Tsunami
(b)  Flood
(c)  Famine
(d) Drought
g 3Iferk a9t & HROr-
(@) g (b) =g

(c) o (d), e

S-06(SET-B) i




_K ....................... %&C@%JJLJ‘JJ‘JQ

k-1 (b) Kty (@
KU (d) ¥5 ot (o)
4. Igloois made up of: W
() Mud (b) Wood
() Snow (d) Canvas
T fepard & &l 87
(a) (b)" WSt
(c) =@ (d) @
Y, - FRpT— A
§H () A @
Uil (D .z (o)

4. Tourists who come to Srinagarlove to stay in a:

(@) Jumbo (b) Loner

(¢) Dab (d)/ Houseboat

06 (seT-B) @7

PT.O.



s R oY A A forer &
i (b) T
()
( S ELELE

(c) =« ﬁ) )
i —— J 2 St ';d/zu,,,,
S (B S (a)

2y (@) Us (o)

48. Which gas is used for cooking in houses?
(9 Liquid Petroleum Gas
(b) Methane Gas

(©) Compressed Natural Gas

(d) Ethane Gas

b
Ll 4

ﬁ*mmaﬁmhmmm%?

| @ = Wi ¥ B e

” mmﬂ“ o (d) S
S-06 (SET-B) |
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49. Indian Space Agency is:

(a) NASA
(C)f ISRO \

(a) =mar

/ (c) dl. U4, T9. T

50. Study of space is called:

(@) Astrology

(©) Cosmology

8-06 (SET-B)

Yool £ 5 oo S

B (1) Sz
/ S i (2)
S (@ A s (©
(b) CNSA
(d) ISA
(b) =
d) o T T
e S deser
WSRO ) NASA (a)
15A \@ CNSA (o)

(‘() Astronomy

(d) Technology

(39)

P.T.O.



31,

Ty

¢ ,
” %ﬁm b) TN Ry

G2 ()
SHE () Ehd ()
Salar y ung Museum js Situatedin -..___ g
(@) Hyderabag
(b) Lﬁckonw
(b) Jaipur
(d) Delhi
(a).- b 34 W
e (d) et
(c) wEER R ES s Ot
£ - N C)
27 () | i 0P
s (D



52, Golconda Fort was built by:

(2})/ Mughal Dynesty
(b) Rajput Dynesty

(c) Qutubshahi Dynesty ) Tughl
ughlaq Dynesty

. NI
@ I (b) eIge s
S — GQ&%;V,’F{, 20
Uzl (b) et (2
i P (D et s ()

53.  Where is Himalayan Institute of Mountaineering?

() Agartala (b) Darjeeling

(©) Dehradun (¢) Gangtok

AT WY GeaTT el W &7 |

(8) ommaam (b) @it
(d) =T

P.T.O.
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?&gbut{_‘aﬁ&)’;ﬂth}jﬁ

/]
vé?/‘) (b) ' (a)
Sl @ oo (o)

54. Bachendri Pal is associated with:
(a) Wrestling W
(b) Badminton

(cV Hockey

(d) Mountaineering

A T e T ¥
(@ B o~ (b) ¥efres
o wlap™ @ vma
_%JN Kdgdwf
Wz (b) | f @
a'&Z{thﬁ (d) JQ ©
$-06 (SET-B)
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Body should be kept at an angle of -.weeeee while climbinga rock-

55-

@ 3 (b) -360°
© 18 d) 90°
gz T R i B (U e 2 o7 g1 @ el |
@ 30° (b) 360°
©) 180° d) 90°
"SSP IAMIAMILLIAISLAMIA N
360° (b) 300 (a)
90  (d) 180° ()
56. Quinine is @ medicationused 0 treat malariais obtained from:
(a) Leaf | (b) Fruit
© Bdk (d) Root
ﬂm,qaﬁmaagw%maaﬁwwwaaW%-
(a) et 2 (b) w ¥
© ®@ (d) T
P.T.O.
(43)



NS o gnJ’lp”-c__leJJWlALi—/@U‘K&A’Z%”nguff
c—u)’{ (b) C—U’i (a)
What is Anaemia?Z (d) Jl‘{.’ ()

57. Whatis Anaemia?
(a)K | Viral disease |
(b) Iron deficiency disease
(c) Fungaldisease
(d) Calcium deficiency disease
M () awRE AT

(b) SRR W FHI

(c) @A T

(d) AR @ = h
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s3. Inwhich season malaria is more common?
(@) Rainy season
(b) Winter
(¢) Summer
@ spring
Ry A AT Y ST B S 2
(a) aRRer & Aew A
©) i A d
(©) wifdr &
d) @ #

306 (SET-B) (45)
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59. How can you separate salt from water?
(a) Evaporation |
(b) Winnowing
© /Filﬁation
(d) Noneof the‘sé
it & G o R S Wi
(a) aTfRToT
(b) e
(c) B
@ o AR

$-06 (SET-B) o
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60. The clothes dry faster on:
(@) Cloudy days
()" Sunny days
(© Rainy days
(d  Winter days |
FE F0 J @ &
@) e Brg gy R &
) ot Fred gq Rt &
©)  ouf & Ry
(@ mﬁ & foeif &

S-OG (SET_B) _ | (47)

el Qo T

e = Llx

Js}éi/c'_.u:ul

(a)

(b)

(o)

(D)

P.T.O.



61. Porto Alegreis a city in:
(a) Argentina

(c) /Chile
(@) Sri=rT

© ik

$-06 (SET-B)

.............................. uZZ—tefrd e 3
ULl ()
JUSL P (b)
SUHLTA (o)

JUHLS (4

- (b) Colombia

(d) Brazil
(b) =rafsmr &
(d) smier &
_b/. ............... i . "‘é-/zﬁ"POI'tO AlegI'C"
L (b)

(’65.'.’/ f (a)

d.:j‘/o (d) J, (C)

(48)
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pvety drops counts." is the sloganrelated to ------------ _
62
@ Counting of drops of any liquid

@ Counting of water drops
Importance of water

(9~
(@ Importance of petrol W

uQ’ﬂ‘aWEB'IW”Wﬁ,—H@@gT%?
(a) feit 7 & ol @ A
(b) e g R

(c) qrET T Jecd
(d) ¥ & A ‘
..l;';, .................. ygé_/j‘j":%ujm};ﬂ
C—Dﬁézdb%ﬂ (a)
e Pl ()
"‘“-‘-’-‘”JGL (c)
LM'JJ’/‘; (d)P.T.O.
(49)



63. Whowas Al-Biruni?

\/K) Traveller

(c) Actor

(b) Leader

(d) Painter

(a) @rl

(c) orfdam

64, From which co

o @ Pakistan

e ,('cj | Australié. |

| $-06(SET-B)

(b) T

(d) REEE

stry did Chillies come to our country?

(b) South America

_ (d)/Aﬁ'icav'-fi: :

S0y

?l;'u:((};ﬁ’l

e @

(),
' /”': i (o

'//..f/ (d)
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ﬂﬁaﬂﬁﬁ#%ﬂ%ﬂﬁaﬁ

(b) s @R

() smniet

- ser i mua suwia — IREAIIEE ey

L153 (b) gy @

~'§’./.’ (d) L,.L.;f (¢)

¢5. Whatis the biological name of pitcher plant?

(@ Nepenthes

(c) Naphtese

Ry @ &7 TSR A AT 62

Al

S (@

(b) (Naphtalene

(d) Napenthalese

(bg~ AwSi

(1)
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66. Doctor had advised to eat sprouts because they are:

(a) Low carbohydrates

(b) Very fatty

(d) /6 ery nutritious

m%aﬁﬁa@ﬁaﬁmﬁmﬁﬁ%? |

(a) @A PEEE=
(b) @ar Gl aa‘i%ﬁ'ﬁT
(c) @7 TR

(d) wfers dH T

(52)

IJ"U/J&‘%JJ,?HJK
U3z

e d

Yyl dbns\ it

e byros u::.( 4.&)0/)’"‘ K u/u“aﬁi— }(’5

(a)

(b)

(c)



Deﬁciency of vitamin C causes:
g o BB - -
@ 5 (@ Rickets
B il ST IAMIAMILUAISLAMIA ;
@ (b) s
(c). &t .

-4-(?‘-,#0/ St
(BeritBe)$adz (@)
(scurvy)$o A1 (B)
»©
(Rickets)7 (D

68. Eating spoiled food causes:

G Malsii- (b) Typhoid

()  Food poisoning (d) Fever

& e e @ ¥

(@)  Tafar (b) ST SR

i e &) gee | P.T.O.
S (SE.p =

G
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69. Which of these is a proper food?
(a) Pizza
(¢) Chips -
R aaq aqgaa sﬁm %7
@ ﬁwﬂ "

() fr=

LGt

(b) Burger

(d)/ Vegetables

(b) =it

(@) e

St W Ut U &b d.: BTV

e (a)
Jir (d) s ©
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digestion of food starts from:

The
@) stomach (b) Mouth
(c)(, Small intestine (d) Large Intestine
@ ®F (b) ¥ &
@ & (d) = it &
e bl fr n (N
# (b) e (@
e urTs (@ »oridd ©
We should eat food slowly and well.
(é) /éhe§v (b) digest
© gulf (d) None of these
e e e Al ST T
@ (b) TR
© T d) o B
| g (/)u%’u,lz‘,gtu(;,‘-.’;,”’tguﬁ
/7 (b) iy (a)
L8 (C)P.T.
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72.  Kalboliais a kind of:
(a) Musical instrument (b) Design
(c) . Song (d) Dance form
(a) wfa &0 O (b) fesmeT
(c) T ‘ (d) 19
B J{A{gw 114
Fizd : =i @
tﬁ S (@ | ¢ (o)
73.  Why dogs are used in §pecial search operations by pilioe?
(@ SpecialSenseofofsmell  (b) Intelligentanimals
(¢) Helpfulanimals =~ (d)- Amazinganimals
R ST T T STRI § A B IR FA BT 22
(a) - @ Fa A Ao (b) R waR
(c) W= SR @) o e
$-06 (SET-B) (56)



74.

15.

St UUIUI T e ol FFLA R 13

/ﬂg}bf (b) c:’lbd/ﬁfygfl} (a)
' u’bg../..f.)uf (d) . . /}l.p/(u (c)

gnakes are killed due to their body parts and which s sold:

(@) Horn (b) Skin
(c) Must (d) ~Tusk

: m%mﬁta‘?m%ﬁ%éﬁaﬁa‘;wa’%mm%?

() ¥T (b) &
(c) (d) =
-‘gtlgdfgzw,tc‘_m?ul.;,,g,Jﬁéﬁféul/u;gv
S ) L @
e (d) JUGy (@
Which body part helps frogs to get their food?
() Hands - (b) Tongue
(¢)  Feet (d)_-Teeth
o & iy oy T T S WO W R A W A &2
@ e | (b) ofw

(d) =

(57)
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u:z,/‘)’uw@f_/bryt;u for

' S‘c‘-t‘/ci
Gl (b) £y ()
SSF JAMIA MILLIA ISLAMIA
...“/b (d) it (@
76. is TajMahal situated?
(a) How (b) When
(c) ,Who (d) Whete

77.  Tick the correct spelling:
(@) Defination (b) Definition
(c) Definision - ! (&) = Dafintion

78. "I went with my friend Sané to buy chocolates and toys." Identify the Proper Noun

in the sentence.
(@) Chocolates - (b) Toys
(©), Sana (@ friend

79. This task seems possiblé to.me.
(@ im (b) un
© ill : (d) dis

5-06 (SET-B) (58)




50. The
@ morebad (b) badder
(c) worst | . .(d)/ worse
g1, Tick the correct symbol for Exclamatory Mark.
@ (b)) O
© O @ 6
g2, He won the competition. The Trophy is _
(@) His _ (b) her
(©), him (d) he
= 8. Geeta saw inthe mirror and smiled.
|
| (@ Geeta (b) herself
(©  yourself (d) itself
8. Identify the word which is not noun:
(& Pen | (b)_Pencil
l (©)  Textbook (d) Write
L;‘f $~06 (SET.B) | B (59)

superlative degree of bad is

P.T.0.



85.  Identify the kind of tense for the following sentence:

"I went to school yesterday."
(@)  Simple past Tense
(b)  Simple present Tense

SSF JAMIA MILLIA ISLAMIA
()  Simple future Tense

(d) Present continuous Tense

86.  Select the correct spelling:
(a) Beautiful (b) - Butifull
(y{ Beautifull ' | (d) Baeutiful

87. Identify the proper noun among the following:

(9) Book . (b) friend

‘(¢c) Monument ’(d) - New Delhi
88. Gregisassmartas ---=-====-=-- is.
| (@ 1 (b) Me
é | () She (d We

S-06 (SET-B) | (60)



Choose the correct statement:
89-
@) He is more unhappy than his friend.
(b) Heismost unhappy than this friend.
c) Heis unhappier thanhis friend. |
(d)/ He is unhappy thanhis friend.
90. Find the incorrect sentence.
(a) Sunrises in the east.
QY It will rain.
(c) Jenny is my best friend.
(d) Johnis tallest boyin my class.
9. "Rama's book is old having yellow and torn pages." Which of the following world is
hot an adjective?
@ old
| (b) /yellow
© " book (d) torn
S B T.O.
06 (SET.
B (61)
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92. caris this?

(@) Whose }b) Who
(c) How (d) When
93. Choose the exclamatory word in the following sentence:
Hurray! we won the match. W
(@ Won (b) Match
© We | @ ey
94. Tick the opposite of theword "honest".
(@) inhonest |
(b) unhonest
(c) dis honeés
D inshonest .
95. Tickthe oppositc; of the wo;'l;l "expected"'; |
(9 in expécted
(b) unexpected
(c) diséxpected
(d) imexpected

S-06 (SET-B) (62)




96.

97.

98.

IGive the opposite of 'good'.

@ Vainly (b) bad
(c) better H(d) ;w‘o rwst

When you watch the Republic Day Parade, do you wonder who built the
Rashtrapati Bhawan, the Rajpath and the India Gate? They were mainly the work of

Sir, Edwin Lutyens. Edwin Lutyen's father, Charles Lutyens, was in the British

Army. He was also a good painter.

When is Republic Day celebrated?

(a) —15th August (b) “ 2nd October

(c) 26th January (d) 29thJanuary

What did Charles Lutyens, Edwin Lutyens father do?
(a) He was in Chinese Army.

(b) He was in Russian Army.

(©)  He was in Indian Army.

@ He was in British Army. P.T.O

8‘06
SET-p) | 63)
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909.  Where is India Gate situated?
(a) New Delhi

(c) Mumbai

100. Who built the Rashtrapati Bhawan?
(a) Char}es Lutyens
(b) Edwin 'Lﬁtyens
(©) Edwin Charlgs

(d) Charles Edwin

S-06 (SET-B)

(b) Calcutta

(d) Chennai

(64)



